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注 意 事 項 

 

１ 検査開始の合図があるまで、この検査問題を開いてはならない。 

２ 検査問題は 4 枚、解答用紙は 1 枚である。検査開始の合図があってから確

かめること。 

３ 検査開始の合図があったら、まず、解答用紙の各ページに受験番号・氏名を

記入すること。 

４ 文字などの印刷に不鮮明な箇所があったときは、手を挙げて監督者に知ら

せること。 



- 1 - 

 

【問題 1】(    )に入る最も適切な語（句）を選び、記号で答えなさい。（各 2点） 

1.  This castle (    ) five centuries ago. 

 ア build    イ built    ウ will be built    エ was built 

2.  (    ) make some coffee for you? 

 ア Shall I    イ Do I    ウ Should you     エ Are we 

3.  The darker it got, the (    ) it became. 

 ア cold    イ colds    ウ colder   エ coldest    

4.  I had my bicycle (    ) yesterday. 

 ア repair    イ to repair    ウ repaired    エ repairing 

5.  I tried (    ) to him, but I couldn’t. 

 ア apologize    イ to apologize    ウ apologized    エ apologizing 

6.  He found it difficult (    ) her. 

 ア forget    イ to forget   ウ to be forgotten    エ forgotten 

7.  I will (     ) Mary next month. 

 ア marry    イ marry to    ウ marry with    エ marry of 

8.  Mike has a friend (    ) belongs to a soccer club. 

 ア what    イ which    ウ who    エ how 

9.  Nothing is (    ) precious than love. 

 ア as    イ most    ウ more    エ the best 

10. Have you ever (    ) to London? 

 ア be    イ were    ウ being    エ been 

 

【問題 2】下線部とほぼ同じ意味の語（句）を選び、記号で答えなさい。（各 3点） 

1.  My success in the examination is due to my efforts. 

 ア as for    イ so to speak    ウ after all    エ because of 

2.  All the children took part in the Christmas chorus. 

ア joined    イ received    ウ agreed    エ waited 

3.  She takes after her mother in looks. 

 ア impresses    イ opposes    ウ predicts    エ resembles 

4.  They had to put off the meeting because of the traffic accident. 

 ア cancel    イ replace    ウ postpone    エ settle 

5.  But for your help, I would have failed. 

 ア By means of    イ Without    ウ In spite of    エ According to 
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【問題 3】日本語に合うように、(    )内の語句を正しく並び替え、Aと Bに入る語（句）を番号

で答えなさい。ただし、文頭に来る語も小文字にしてある。（各 3点） 

1. それが私が探しているものです。 

  That ( ①looking ②what ③for ④I’m ⑤is ). 

  That (    )(  A  )(    )(  B  )(    ). 

2. 英語を学ぶことは重要です。 

 ( ①important ②is ③English ④ it ⑤learn ⑥to ) 

  (    )(  A  )(    )(    )(  B  )(    ). 

3. あなたは何がその事故を引き起こしたと思いますか。 

 What ( ①was ②think ③the cause ④you ⑤of ⑥do ) the accident? 

  What (    )(  A  )(    )(  B  )(    )(    ) the accident? 

4. 私は道路にライオンがいるのを見て驚きました。 

 I ( ①to ②surprised ③a lion ④was ⑤see ) on the road. 

  I (    )(  A  )(    )(  B  )(    ) on the road. 

5. 何を言えばいいかわからなかったので、私は黙っていた。 

 ( ①to ②knowing ③say ④not ⑤what ), I remained silent. 

  (  A  )(    )(  B  )(    )(    ), I remained silent. 

 

【問題 4】次の会話の(    )に入れるのに最も適当なものを選び、記号で答えなさい。（各 3点） 

1. A: Hello, may I speak to Mike, please? 

B: (     ). 

ア This is he speaking.                       イ I’m glad to meet you. 

ウ I’ll give him a call.                    エ I call him Mike. 

2. A: Can I help you put the box on the top shelf? 

B: (     ). 

ア It’s over five feet high.   イ Oh, it’s just old clothes. 

ウ Yes, I put it this morning.   エ Yes, thanks so much. 

3. A: When is the rain supposed to stop? 

B: (     ). 

ア I like it a lot.    イ Sometime this evening, they say. 

ウ I suppose you’re right.   エ I don’t think so. 
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【問題 5】間違っている箇所を一つ選び、記号で答えなさい。（各 3点） 

1.  It is easy  of my father  to climb Mt. Fuji. 

   ア         イ            ウ 

2.  When  did you buy  the computer who  is now broken? 

     ア        イ          ウ            エ 

3.  They  have been discussing about  the most important problem  for a long time. 

     ア            イ                      ウ                 エ 

 

【問題 6】次の文章を読み、問いに答えなさい。（各 4点） 

 

 

 

 

 

 

 

 

 

 

 

 

 

（出典：Revised Big Dipper） 

 

1.  （ ① ）、（ ② ）、（ ③ ）に当てはまる語を下記から選び、記号で答えなさい。 

 ①：ア Therefore      イ Besides      エ However 

 ②：ア even though    イ because      エ as long as 

 ③：ア Two     イ Another         エ Nothing 

2.  ④のカッコ内の語を適当な順に並び替えなさい。 

3.  本文の内容についての質問の答えとして適当なものを一つ選び、記号で答えなさい。 

 Why must some children walk to school for more than two hours? 

   ア Because the roads are very busy in Kenya. 

 イ Because there are few schools and the public transportation is poor. 

 ウ Because children do not have enough money to use public transportation. 

 

 

 

 

著作権の保護の観点から公開しておりません。 
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【問題 7】次の文章を読み、問いに答えなさい。（各 3点） 

 

 

 

 

 

 

 

 

 

 

 

（出典：Revised Big Dipper） 

 

 

1. ①の下線部とほぼ同じ意味になる語を選び、記号で答えなさい。 

ア reasonable    イ low    ウ expensive    エ giant 

 

2. 本文の内容と合っているものには〇を、合っていないものには×を書きなさい。 

(1)  Bottled water has become an important problem in developing countries. 

(2)  “First World excess” (l. 3) means waste in developed countries. 

(3)  The bottled water industry is considering the ecological impact of its actions.  

著作権の保護の観点から公開しておりません。 


